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Ans X A a

Question ID : 1703221220
Status : Answered
Chosen Option : B

Q2 The following is a type of Electric Resistance Welding
a) Electro-slag Welding
b) Seam Welding
c) Thermit Welding
d) Friction Welding

Ans X A a
& B.b
K Cc
< D.d

Question ID : 1703221218
Status : Answered
Chosen Option : A




Q3 Winches are used
a) whenever loads are to be lifted
b) to pull heavy lcads along the ground
c) to roll easily over any uneven surface along the route
d) All of the above

Ans X A a
& B.b
X Cc
2 D.d

Question ID : 1703221203
Status : Answered
Chosen Option: D

Q4 Expression of fit in basic hole system for a size of 50mm is
a) 50 g6/H7
b) 50 H7/g6
c) 50 g6 x H7
d) 50 H7 x g6

Ans X A a
& B.b
X Cc
< D.d

Question ID : 1703221223
Status : Answered
Chosen Option : B

Q.5 The coupling used to connect two parallel shafts whose axes are at a small
distance apart is called
a) Universal Coupling
b) Grid Coupling
c) Oldham Coupling
d) Tyre Coupling

Ans X A a
X B.b
" C.c
& D.d

Question ID : 1703221234
Status : Answered
Chosen Option : B




6 |, Lathe, The compound rest can be swiveled horizontally through
a) 180°
b) 90°
c) 270°
d) 360°

Ans X A a
X B.b
X Cc
 D.d

Question ID : 1703221226
Status : Answered
Chosen Option : A

Q.7 Cooling rate for carbon steel during annealing process is
a) 50 to 100 °C/hr
b) 100 to 150 °C/hr
c) 150 to 200 °C/hr
d) 200 to 250 °C/hr

Ans X A a
' B.b
X C.c
/2 D.d

Question ID : 1703221231
Status : Answered
Chosen Option: C

Q.8 |n sheet metal, an operation of closing down the edges of the plates and
heads of the rivets to form a metal to-metal joint is called
a) Caulking
b) Plugging
c) Sealing
d) None of the above

Ans A a
X B.b
X C.c
/2 D.d

Question ID : 1703221215
Status : Answered
Chosen Option : A




Q.9 In welding, the polarity of Alternating Current power source is always
a) Straight Polarity
b) Reverse Polarity
c) Both Straight and Reverse Polarity
d) No Polarity

Ans X A a
& B.b
X Cc
 D.d

Question ID : 1703221217
Status : Answered
Chosen Option: A

Q10 The following welding gives Highest quality welds
a) Gas Tungsten Arc Welding
b) Gas Metal Arc Welding
c) Shielded Metal Arc Welding
d) All of the above

Ans o Ala
X B.b
&K Cc
X D.d

Question ID : 1703221219
Status : Answered
Chosen Option : A

O 35 8.8 M8 Feip B SfiHdT BT BT <TE 2

a) 5.40 Nm
b) 28.8 Nm
c) 9.50 Nm
d) 44.0 Nm

Ans X A a
& B.b
X Cc
& D.d

Question ID : 1703221239
Status : Answered
Chosen Option: B




Q12 The calipers used for finding the centre of round bars is called

a) Firm Joint Calipers
b) Spring Joint Calipers
c) Jenny Calipers

d) All the above

Ans X A a
X B.b
" C.c
& D.d

Question ID : 1703221204
Status : Answered
Chosen Option: C

T deffEm @ B ¥ R S @ g S Sl

a) 60°
b) 50°
c) 45°
d) 30°

Ans X A a
X B.b
K Cc
o D.d

Question ID : 1703221208
Status : Answered
Chosen Option : D

Q.14 Difference between the maximum and minimum limit of basic dimension is
called
a) Deviation
b) Tolerance
c) Fit
d) None of the above

Ans X A a
& B.b
K Cc
< D.d

Question ID : 1703221222
Status : Answered
Chosen Option: B




Q15 Which of the following is a non-destructive testing method

a) Metallographic Testing
b) Hardness Testing

c) Stress Testing

d) Radiography

Ans X A a

& B.b

X Cc

« D.d

Question ID : 1703221240
Status : Answered
Chosen Option: D

Q.16

In Mechanical comparators, the magnification range is
a) Between 1-10
b) Between 10 -100
c) Between 100 -1000
d) Between 1000 - 10000

Ans X A a
X B.b
" C.C
& D.d

Question ID : 1703221225
Status : Answered
Chosen Option: D

Q.17 |dentify the Warning Sign

a) Risk of Electric Shock

b) Risk of Fire

c) Risk of lonizing Radiation
d) Laser Beam

Ans X A a
& B.b
X Cc
« D.d

Question ID : 1703221201
Status : Answered
Chosen Option: C




Q18 Knurls of 1.25 mm pitch (21 TPI), produces
a) Coarse Knurling
b) Medium Knurling
c) Fine Knurling
d) None of the above

Ans X A a
" B.b
X C.c
& D.d
Question ID : 1703221228
Status : Answered
Chosen Option: B
Q.19 ’ ;
faufea vfifecis Riftier & @ ¥ o9 gar g

a) 120-150 Kg/cm?
b) 15-16 Kg/cm?2

c) 120-150 Kg/mm?
d) 15-16 Kg/mm?

Ans X A a
& B.b
X Cc
& D.d

Question ID : 1703221216
Status : Answered
Chosen Option: B

Q20 The Hacksaw blade pitch to cut conduit and other thin tubes is
a) 1.8 mm
b) 0.8 mm
c) 1.4 mm
d) None of the above

Ans X A a
& B.b
X Cc
& D.d

Question ID : 1703221206
Status : Answered
Chosen Option: B




Q.21 These bearings are designed to take an axial thrust as well as radial loads.
a) Roller Bearings

b) Angular Contact Ball-bearing

c) Tapered Roller Bearings

d) Thrust Ball Bearing

Ans X A a
o B.b
X Cc
X D.d

Question ID : 1703221232
Status : Answered
Chosen Option: B

Q.22 The coating factor of 1.4 to 1.5 in Arc Welding Electrodes falls under
a) Light coated Electrodes

b) Medium coated Electrodes

c) Heavy coated Electrodes

d) Super Heavy coated Electrodes

Ans X A a
& B.b
X Cc
X D.d

Question ID : 1703221221
Status : Answered
Chosen Option: B

Q23 A 100 mm long (nominal size) 'V' Block capable of clamping workpieces
between 5 to 90 mm in diameter and of Grade A will be designated as
a) 'V' Block 100/5-90 A 1.8.2949.
b) 'V' Block M 100/5-90 1.5.2949.
c) V' Block 100/5-90 1.5.2949.
d) 'V' Block M 100/5-90 A 1.5.2949.

Ans o Ala
& B.b
X Cc
& D.d

Question ID : 1703221205
Status : Answered
Chosen Option : A




Q24 The shears used in sheet metal for the inside cutting of an intricate work is
called
a) Scotch shears
b) Hawk billed shears
¢) Rohdes shears
d) Aviation shears

Ans X A a
& B.b
X Cc
X D.d

Question ID : 1703221211
Status : Answered
Chosen Option: B

Q25 Threads used in valve spindles is
a) ACME thread
b) Buttress Thread
c) Worm Thread
d) Knuckle Thread

Ans X A a
X B.b
X C.c
& D.d

Question ID : 1703221229
Status : Answered
Chosen Option: C

Q.26 The file having a rectangular shape with teeth only at the bottom face is
called
a) Riffler File
b) Barrette File
¢) Tinker's File
d) Mill Saw File

Ans X A a
& B.b
' C.c
& D.d

Question ID : 1703221207
Status : Answered
Chosen Option: B




Q.27 A hand tool used for closing and locking of seams in sheet metal work.

a) Groover

b) Trammel

c) Riveting hammer
d) Stakes

Ans o Ala
& B.b
X Cc
& D.d

Question ID : 1703221212
Status : Answered
Chosen Option : A

Q28 ggp drR & ﬁv_aﬁ

CEIE]
feu o arafar srgmfd
g, S8l d=drR &1 ™

a) (2.5xd)+t
b) (1.5 xd) +1t
c) d+t

d) (0.5 xd) +1

Ans ¥ A a
< B.b
K Cc
/< D.d

Question ID : 1703221213
Status : Answered
Chosen Option : B

Q2 fgfafea aig & oo qur oRkfdgu @xd @y g & aq &1y
B R b w9 T par o §

a) UgfAfom
b) Uidd
c) did
d) e@ar g

Ans o Ala
X B.b
X Cc
2 D.d

Question ID : 1703221227
Status : Answered
Chosen Option : A




Q30 The fuel involved Class ‘D’ fire is
a) Flammable Liquid

b) Wood/Paper

c) Metals

d) Liquified Gas

Ans X A a
X B.b
" C.C
& D.d

Question ID : 1703221202
Status : Answered
Chosen Option: C

Q31 The application of control valve in pneumatic system is to
a) store the hydraulic fluid

b) provide fluid pressure to the system

c¢) direct the flow of fluid

d) All the above

Ans X A a
& B.b
' C.c
& D.d

Question ID : 1703221236
Status : Answered
Chosen Option: D

Q32 gy giesx & fou Fofifed 9dem #§ 8 oF-91 98§, fomar
TN WA 4T TEISUANT ) fhar S g
a) 50% ¢F Td 50% 1T
b) 60% <1 T 40% AT
c) 70% T 9 30% IR
d) 40% T 9 60% IR

Ans o Ala
X B.b
K Cc
& D.d

Question ID : 1703221230
Status : Answered
Chosen Option: C




Q.33 Honing is used for finishing of bores in

a) Ferrous material alone

b) Non- Ferrous material alone

c) Ferrous and Non-Ferrous materials
d) None of the above

Ans X A a
X B.b
" C.C
& D.d

Question ID : 1703221238
Status : Answered
Chosen Option: C

Q34 Y WG HI dled & fow 2. W, I g dfd I= WG dUF
& fou oR.Ul.uH. @1 MU P RE WG $ U Baq T B
314mimn @ ¥0 H d

al

a) 500 RPM
b) 5000 RPM
c) 30 RPM
d) 300 RPM

Ans o Ala
X B.b
X Cc
& D.d

Question ID : 1703221210
Status : Answered
Chosen Option : B

Q35 |dentify the below pneumatic symbol
a) Lubricator
b) Filter

c) Dryer

d) Pressure Gauge
Ans @ Aa
X B.b
X C.c
X D.d

Question ID : 1703221235
Status : Answered
Chosen Option: C




Q36 The type of brass with 95% Copper and 5% Zinc is called as

a) Admirality brass
b) Naval brass

c) Muntz metal

d) Gilding metal

Ans X A a
& B.b
X Cc
 D.d

Question ID : 1703221224
Status : Answered
Chosen Option : A

Q37 15 3073-1967 & SMER R ufpw ¥ Teo difdd Iag
G gt g

a) 1.6 -6.3 ym

b) 0.025 um-0.4 ym
¢) 6.4um—100 uym
d) 25 pm-50 um

Ans @ A a
X B.b
X Cc
/< D.d

Question ID : 1703221237
Status : Answered
Chosen Option : A

Q.38 |dentify the soldered lap joint used in sheet metal work to make the joint
stronger and leak proof

a) Lap \ = '
b) Joggled Lap

c) Abutting Lap

d) Corner Lap

Ans X A a
& B.b
X Cc
X D.d

Question ID : 1703221214
Status : Answered
Chosen Option: B




Q39 Identify the part ‘A’ in the outside micrometer A

a) Barrel

b) Spindle
c) Thimble
d) Ratchet

Ans X A a
X B.b
o C.c
2 D.d

Question ID : 1703221209
Status : Answered
Chosen Option: C

Q40 |dentify the following symbol in pipe fittings th

a) Joint / Socket
b) Plug/Cap

c) Cross

d) Union Screwed

Ans X A a
X B.b
K Cc
o D.d

Question ID : 1703221233
Status : Answered
Chosen Option : A

Section : TECHNICIAN-B(FITTER) Post Code-002-2

@ U dged  F TGRS F UAT FY, ARG SHR W@ S B of
FHAA:10 FEHT 3 6 AT 71
a)4m  b)16m c) 60 d) 15m
Ans X A.a
X B.b

S Ce
& D.d

Question ID : 1703221248
Status : Answered
Chosen Option: B




Ans

/4 Yeoe &1 f2afy F agar?

a) 90 b) 45 c) 180 d) 120

XA a
& B.b
X Cc
X D.d

Question ID : 1703221244
Status : Answered
Chosen Option: B

Q.3

Ans

afe Tk a8 60 HieT FT g3 5 Whe H a7 FIaT1 § df 3HH! raa aifd Far
grefr|
a) 60.8 km/h b) 36 km/h c)32.4kmh  d)43.2kmh

K Aa
X B.b
X C.c
& D.d

Question ID : 1703221260
Status : Answered
Chosen Option: D

Q4

Ans

faFTef@a 9a° + 8b°- ¢ *+ a° - 4b® + 3 ug & A 3K 3§

a) -1 b) 1 c) 10 d) 3

Question ID : 1703221242
Status : Answered
Chosen Option : A




Q.5

T T3 Fr o7 '« & T T F A § T F oA Fr areqora .

a) x/4 b) 4x c) 4 d) x2
Ans A a
& B.b
X C.c
2 D.d
Question ID : 1703221246
Status : Answered
Chosen Option : A
Q6 T HAHFR T a1 3HHT T1eT$ T Gl &1 Ay e 7 oA
60 FEHET # . 3TF ST%eT FT cm? F IdT 9T |
a) 100 b) 200 ¢) 150 d) 300
Ans X A a
& B.b
X Cc
& D.d
Question ID : 1703221249
Status : Answered
Chosen Option : B
Q.7 The property of a metal by which it can be drawn out into wire is
known as
a) Ductility b) Malleability
c) Brittleness d) Toughness
Ans o A a
& B.b
K Cc
& D.d

Question ID : 1703221251
Status : Answered
Chosen Option : A




Q.8

Ans

Nitriding is a process of
a) Tempering

¢) Quenching

KX Aa
X B.b
X C.c
& D.d

b) Annealing

d) Case hardening

Question ID : 1703221256
Status : Answered
Chosen Option: D

Q.9

Ans

a) kg.m/s b) N.m/s
& A a
X B.b
X Cc
< D.d

c) kg.m/s?

d) N.m/s?

Question ID : 1703221252
Status : Answered
Chosen Option : D

Q.10

Ans

The peripheral speed of a car wheel of diameter 300 mm rotating at

the speed of 60 RPM, is

a) 30mm/s

X Aa
& B.b
X Cc
2 D.d

b) 0.3 m/s

c) 0.6 mm/s

d) 60 T m/s

Question ID : 1703221253
Status : Answered
Chosen Option : D




Q.11

Ans

TAfer2fierdT ganr golarel W e Fr fem &1 ... gany fem@mm a7 |@ehar
gl

a) ared fam b) TTed fATH

c) FRHT gTT gTer o d) g

X Aa
X B.b
o C.Cc
/2 D.d

Question ID : 1703221258
Status : Answered
Chosen Option: C

Q.12

Ans

SFH 10 el & U BT F1A QI FIaT 8, 316120 12 et 7 3 gwre 15
featt & | afe v Frery w1 F3a § A frae el 7 o qu 3 arean
a)5s b) 4 c)6 d)8

X Aa
& B.b
K Cc
X D.d

Question ID : 1703221247
Status : Answered
Chosen Option: B

Q.13

Ans

faafafaa A7 o Fiad srsg gear d ?

a) 20 by 17 c)4 d)10

X A a
& B.b
X Cc
X D.d

Question ID : 1703221250
Status : Answered
Chosen Option: B




Q.14

sin © FTHeT AAFIAT AT O ... F A £

a) 0° b) 30° c) 90° d) 45°

Ans X A a

X B.b

" C.C

& D.d

Question ID : 1703221245
Status : Answered
Chosen Option: C
Q.15 . .
farafafEa & & siawr vorh ggoe feufa fr qfd Frar 2
a) HUTE ST HIg W 379 A 0T U o
b) TUE SIS HAg W el
c) HuIE ST Hefg O¥ 379e e 0¥ fPue o
d) 3cdd Tdg Wi

Ans X A a

X B.b

o« C.c

& D.d

Question ID : 1703221259
Status : Answered
Chosen Option: C
Q.16 .
U AYASAT E1........ AT &
a) 76 cm of Hg by56cmHg c¢)60cmofHg d) 70 cm of Hg

Ans o Ala

X B.b

K Cc

& D.d

Question ID : 1703221257
Status : Answered
Chosen Option : A




Q.17

Ans

T TE] BT Tl H FgT A0 AR F& I 9] Wl et 3T et 37y

a) FAAFH b) =T

¢) YT U FART d) TF

Question ID : 1703221255
Status : Answered
Chosen Option: B

Q.18

Ans

am"xa"="?

a) q mn b) a m-n C) a min

X Aa
X B.b
X Cc
& D.d

d)y amn

Question ID : 1703221243
Status : Answered
Chosen Option : D

Q.19

Ans

Teh ST I o9l Hed $25000 & 3R Tshell T S15eh &1 ofleTed Hed W

6% lTeT TAET | ST T faeha Hed I IdT M7 ?

a)Rs 28000 b) Rs 23500 c) Rs 27000

X Aa
X B.b
K Cc
o D.d

d) Rs 26500

Question ID : 1703221241
Status : Answered
Chosen Option: D




Q.20

Ans

The microstructure and physical property of the material can be

altered by
a) Milling b) Heat treating
¢) Grinding d) Turning

K Aa

& B.b

X C.c

/2 D.d

Question ID : 1703221254
Status : Answered
Chosen Option: B




